X
=
(@]
&
©
N
X
=
(=]
&

< & ¢@>(rad)

F I 9 AN F

: : | - :

iR EERREE : Fif B 0.15F{]+ ke Al BT

- i N o o

a : : o a f

-_ ........ : E- V 0.1-_ ............... CESS N R R E N SRR

SRR A = 0.05F {{-+-t-+k-- 1tk s e

o j : - OF{{-+--5--- MRS (] B

R : 3 0.0 -+ -+ Fp{f e f-HHf- S o

b S ~ e S L 1 A Sa0 A F

kR O =\ | EEREERER R R R R B L AL R SRR

; A RANAR -9_0.2; \ L

- T 2

E T o E

X ; i

:_._ T 1 b G:

3 -1 0 1 2 3 =3 3
TP r] (PCA to beamline) mline)

:E egé %ﬁé%‘ﬁ 1RURSLTLIERS 1000evt

[y
A OO ®© O
OO O

< 00y > (Um)

-

N
TTTT[TTTT[TITTT

: : TE::_ 10 E : :
S8 | | SRR IR AR [ ¥ saeli = 8O 1{{ [l -
. H A F : .
i 11T < 6011l -
: : ) E : :
I 11 40F11- [ -
. bl v I : i
I3 11 {3t 20F-{{-+[3 1
; IS of{[- {1
i % -20F :
3 : ~40F- :
-60F- A T [ d .
1{ [EEEEIREE S : —80F- {111 [Fh e
) AN Al ) c_)_lG ;: n "
1\ iz 2
il ¥
93"

1 2 3 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

< opJp, > (%)

it
o e A e

Ratio

(oS Y R AN RN LS RN AR RARAN LARAN LT AR AR LN R

2 - ) 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


